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Name: _________________________

Dr. Rechs

Practice Exam IV

Note this is simply an old Final Exam and is only intended to provided an example of the exam style.  Some material here may not apply to your semester, and some material from your semester may be missing here.  Semester notes should be used to study specific material and topics.
1) Which of the following is a true statement?

A) Sexual reproduction is less costly than asexual reproduction.

B) A human with an SRY will be genetically a female.

C) A man with a severed spinal cord can still get an erection.

D) All of the above are true.


E) None of the above is true.
2) Which of the following is a true statement?

A) The parasympathetic NS is activated to facilitate engorgement of genitalia.


B) The sympathetic NS is activated to achieve orgasm.


C) A man that is very stressed will have a harder than normal time achieving an erection.


D) All of the above are true.


E) None of the above is true.
3)
Which of the following is a true statement?

A) Mating behavior seems to be hardwired in the brain and unchangeable.


B) Hormones have no effect on mating behavior.


C) Promiscuous animals are not found in Nature.


D) All of the above are true.


E) None of the above is true.

4)
Which of the following is a true statement?

A) There are large dramatic differences in the brains of men and women.


B) The brains of men and women must be somewhat different to account for different behavior.


C) The corpus callosum is larger in men compared to women.


D) The anterior commisure is larger in men compared to women.


E) All of the above are true.
5) Which of the following is a true statement?

A) Females do not normally produce testosterone.


B) It is possible for a male to not develop a “male” brain.


C) It is impossible for a female to develop a “male” brain.


D) All of the above.


E) None of the above.
6)
A fully developed female rat exposed to high levels of testosterone will…


A) gain a masculinized brain and exhibit male-like behaviors.


B) only be able to have male offspring.


C) genetically become a male rat.


D) All of the above are true.


E) None of the above is true.

7) True or False?  If a Prairie vole male is injected with a vasopressin antagonist just prior to mating with a female vole, he will form a strong pair bond with her.


A) True


B) False
8) Congenital adrenal hyperplasia…

A) causes abnormally high levels of testosterone in females.


B) occurs in men who have no testosterone receptors.


C) will result in men developing ovaries.


D) All of the above.


E) None of the above.
9) True or False?  Dopamine is thought to activate the reward system that is different than the pleasure system.


A) True


B) False
10) Which of the following is a true statement?

A) Stimulation of the basolateral amygdala leads to an increase in fear and anxiety.


B) Destruction of the basolateral amygdala leads to the inability to recognize the fearful expressions.


C) The James-Lange theory of emotion states that we feel sad because we cry.


D) All of the above.


E) None of the above.

11) True or False? Elevated levels of testosterone will lead to a decrease in aggression.


A) True


B) False
12) Which of the following is a true statement?


A) The hypothalamus is part of the limbic system.


B) The corticomedial amygdala inhibits affective aggression.


C) Predatory aggression leads to an increase in sympathetic NS activation.


D) All of the above.


E) None of the above.
13) Which of the following is a true statement?


A) Stimulation of the lateral hypothalamus leads to an increase in predatory aggression.


B) A cat showing predatory aggression will hiss, spit, arch its back and stand its fur up.


C) Elevated serotonin will reduce aggression and anxiety.


D) All of the above.


E) None of the above.
14) Which of the following is a true statement?

A) As a brain becomes more active its EEG waves become faster and have smaller amplitudes.


B) It is possible to record the activity of a single neuron from the scalp’s surface.


C) A larger EEG wave means that more neurons are firing.


D) A larger EEG wave means that the amplitudes of action potentials are getting larger.


E) Larger EEG waves means that neuronal firing is less synchronous.
15) Which of the following is a true statement?

A) The function of brain rhythms is unknown & may just be an artifact of neuronal interconnectivity.


B) The heart’s pacemaker activity may be the source of much of the brain rhythms.


C) If synchronous brain activity becomes too small it may result in a seizure.


D) All of the above are true.

E) None of the above is true.
16) Which of the following is a true statement?

A) During REM sleep is when dreaming most often occurs.


B) During Non-REM sleep EEG waves are small and fast.


C) During Non-REM sleep the body is paralyzed.


D) During REM sleep the parasympathetic NS is activated.


E) None of the above.

17) Which of the following is a true statement?


A) About 1/12 of a humans life is spent sleeping.


B) Not all mammals sleep.


C) Opossums sleep about 18 hours per day.


D) All of the above are true.


E) None of the above.
18) True or False? A general seizure is spontaneous over-activity of neurons in one localized brain area.


A) True


B) False

19) Which of the following is a true statement?

A) Only a few biological processes are affected by circadian rhythms.

B) Circadian rhythms are only found in vertebrates.

C) “Night people” probably have a circadian cycle that is longer than 24 hours.

D) A horse’s circadian rhythm is three hours long.

E) None of the above.
20) A person with retrograde amnesia of declarative memories would be unable to...


A) remember skills learned in the past.

B) remember facts from the past.

C) learn new skills.


D) learn new facts.


E) None of the above is true.
21) Which of the following is a true statement?

A) Destruction of Broca’s area bilaterally results in the inability to understand language.


B) In deaf people destruction of Wernicke’s area results in the inability to communicate vocally.


C) Destruction of Broca’s area results in the inability to communicate via sign language.


D) Anomia is the complete loss of language abilities.


E) None of the above is true.
22) Which of the following is a true statement?

A) Attention speeds neuronal processing of external stimuli.


B) Attention decreases the detection of external stimuli.


C) Neglect syndrome results in the inability to remember past events.


D) All of the above are true.

E) None of the above is true.
23) Which of the following is a true statement?

A) All short-term memories eventually become long-term memories.


B) Declarative memories are much easier to learn and forget than are nondeclarative memories.


C) Hebb’s theory of memory is that memories of an event are stored in a single cell.


D) All of the above are true.

E) None of the above is true.
Short answer questions:

24) (7 pts) Fabbio says to his roommate that women are better at verbal tasks and that men are better at three-dimensional spatial tasks.

A. Which hemispheres are thought to be responsible for carrying out these tasks in most people?


Verbal -- ____________________

Spatial -- _______________________
B. Why should Zippy’s statement be viewed with suspicion?

25) (8 pts) A. What evidence is there that sleep serves a useful purpose?

B. Hypothesize two purposes for sleep.



1.


2.
26) (11 pts) A.  What brain area is responsible for the internal clock that drives circadian rhythms?

B. What two pieces of evidence support this?


1.


2.
C.  By what mechanism do neurons in this area have an internal 24 hour rhythm?
27) (5 pts) Why is it possible for blind people to still have circadian rhythms that are 24 hours?
Extra credit (4 pts) Scientifically, why would it be incorrect to say that the size of the anterior commisure will determine if a man is homosexual or not?
























